RETARMAEFEHETR [FREH]

[ERR304E12H148])
4 -3
B OHFIIke, £EEITM
&R BIE thlrssswe|® &|F E & T BIE M|rsxsEce|® 64F B B {E
EFWIA| F3F | 5951.8|1ke 540 32 — b < K KX | 42528 |1ke 1,899 324 65
N X BB | 26800 |1ke 270 97 81 |S=F<H TS 231.1 | 1kg 1,312 432 270
ICALCA| FE |226500 |1keg 572 65 49 [E—<>| BH 579.0 | 1kg 576 360 108
Z X 3| F&H | 30489 | 1ke 1,188 270 27 [&5852L| — — 1kg — — —
itz $E 12.0 | 1kg 810 810 - WAITA| ERE 50.0 | 1kg 1,242 1,188 —
[F<E | Zig | 9.004.0 | 1ke 76 51 16 [RAES|ERE| 121.0|1ke 2,916 918 —
CEOLE| KT 744.8 | 1kg 572 216 173 |ATEEH]| — — 1kg —_ —_ —_
Fo_RY| FE |12,7300 | 1ke 86 54 32| & IF -— — | 1ke — — —
F53hA€3| BS 773.2 | 1kg 972 324 54 [MAL K| T | 7,365.0 | kg 529 194 86
R ¥ BB | 17495 |1ke 1,080 259 43 ([EFhL&| dbimE | 2,4500 | 1ke 130 92 65
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Iz 5| 85 | 1,068.0 | 1ke 972 648 324 L &5 A &A 111.7 | 1ke 878 864 424
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T — —  |ike — — — N F F|71UEL| 33140 | 1ke 370 — 139
FLi | B 639.2 | 1kg 2,854 2,854 540
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